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AL al
a1 1| Z5 ug 2 g
O o A (2499 7)F)
(et : mm)
712+ 24 T 24,88 '24.9Y
= gd | 23 (H8%)| "W | S 8% "BA 28 H2(%)

S 11,1911 1,2150 102.0 288.0 98.6 34.2 189.5 2211 138.7

L2 1,247.2| 11,2440 99.7 316.3 124.3 39.3 170.3 203.3 119.3

otM X 1,162.1| 1,270.4 109.3 298.5 106.5 35.7 158.3 263.2 166.3

s 1,100.8| 1,104 100.9 252.2 73.2 29.0 148.9 220.9 148.4

o 1,050.3 926.0 88.2 229.7 79.4 34.5 163.8 202.3 123.5

E} 312t 1,162.6| 1,048.8 90.2 240.3 924 38.5 168.1 239.4 142.4

=2 & 1,175.9|  1,259.1 1071 282.9 62.5 22.1 149.0 234.8 157.6
HmH 1,131.1  1,485.7 1314 295.9 101.7 344 158.0 3274 207.3
AL 1,165.9| 1,249.7 107.2 273.4 105.1 38.4 138.0 1941 140.7

STL 1,152.8| 1,080.0 937 266.5 99.8 374 1476 165.3 112.0

MEZ 1,3132| 11,4326 109.1 304.9 106.1 34.8 164.3 287.4 174.9

AMY 12242 1,146.6 937 275.2 114.5 416 155.5 196.8 126.6

Bt X Z 1,3783| 1,619.0 1175 303.5 60.9 20.1 1912 426.6 2232
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X AL al ;31
&1 2 | N dEg X 32
O A B (ugT 71F)
EERTIN
T8 che & o uHE 2 o NEX-BN 58X 4 x|
Ao\ | ofd | &t | (E o | gar | UF | oga | ga | UE o | ga | E
H | 82647 88090 1066 13037 13159 1009 2777 2682 966 1,639.3 16051 979
stzt | 38301 30930 1043 12998 13122 101.0 163 171 1049 2614 2729 1044
=2 | 19801 21350 107.3 - - - o464 2167 879 4238 3621 855
22z | 16005 1,7000 1062 - - - - - - 3339 3500 1044
9dabzZh | 8450 9810 1161 39 37 949 150 344 2293 6204 620.1 100
% (GRS oA, (LSS ENZhElE, (3212 MM, [FAZS T, SR, MEZ o BRI $H AlMe B8
- gE Y
ST X458 ups et
s | e Rl (84 k) (%) Gisd (m/ %)
T £ o | e | 9 Zent
(o) | ELM) | ELmM) | & A | e | m) | owm | 2=
ezt | M
Z 7 12923 | 8810 68| 61| 329
L |2 [ 2703 198 | 1885| 2900| 2165| 75| 64| 436 0 0
sl x| eess 145| 1355| 2750 | 1758 | 64| 61| 233 0 0
- 209 180 177.1 87 70 81 67 158 0 0
of = | 1584 1617 153 | 1248 80| 69| 50| 537| 64 0
of st | 1361 Tiea7| 1539 505 34| 59| s3| a3 0 0
N o | s3] 3649| 3606 o8 2| 8| es| o 1 0
R 500 164 | 1549 181 101 6| s a9 1 0
o |2 sl er5| 2051| 2002 49 8| 78| s 280 0 0
> | e 82| 1986| 1915 54 0| 72| 0| 3o g 0
S |msia | 36| 2385 2304 2 16| 72| s0| 486 0 0
g 925 179 | 1663 790 511 65| 61| 614 0 0
o 2b | 2085 46| 394 309 12| as| s s o 0
2 eF 95.4 210.2 198.3 74 52 71 72 482 0 0
= g 930 265.5 2577 815 581 71 67 550 16 0
z [ " 3004 80| 743| 1490 1os4| 71| es| 239 0 0
M MR 763 197.7 185.9 466 225 48 46 645 0 0
Zl = of 1,145 110.5 108.1 707 566 80 63 231 31 0
N 50| 438 394 50 36| 73| 71| 433 0 0
£t L= 163.6 75.5 69.3 117 65 55 55 389 1 0
I s 193] 828|789 191 154 80| sl 391 3 0
Aozt 2l @ S 2ol AZEESTANK HeStol A Ystes dTE(FEE 50%)



P
- gl
x4at H4g W
79 A =R (84 @km) (%) o4 (m/%)
-+ = RS ot 2 =9 PAS =Y
(km) | (ELm) | (EL.m) 5 A | o | (M) | e | A
Heer | ®Maw | O = = | as
= A 4449 268.2 60 60 471
L 4= 125 672 672.6 13.1 9.7 74 67 98 0 8.5
z ket 29.4 112 112.1 8.7 74 85 76 435 0 26
A™ 235 156.8 151.3 103.2 59.5 58 57 426 0 0
oA 6.7 43.9 36.9 18.5 8.9 48 61 2,157 - 0
A" 3.7 40 39.5 26 2 77 63 477 - 0
Lt == 301.3 145 1451 160.3 105.1 66 62 461 0 0
; o= 575 120 109.5 36.2 114 32 54 629 0 0
70 L ALd 67 60 495 30.3 8.7 29 55 767 - 0
= CH ef 77 485 478 13.1 57 44 42 637 - 0
Met 1.2 30 275 2 1.7 82 83 839 - 0
o= 1.7 48 479 52 4.4 85 67 620 - 0
T 12.7 93 928 10 9.3 93 84 583 0
o = 49 64 61.8 31.3 26.5 85 66 587 0
M ozl 19.9 109.7 109 10.3 7.9 77 66 415 0
AR ST TR0l HEZF=LAX] =32 dEHsts ZTZHRES 50%)
ReEL:
M X% At e
247 | w=n (s B ) (%) zea|  (m/E)
Ce Aekel | e mm
(EL.m) (EL.m) =P _ REE 2
s X of A ro
Mzt | e o oo | e | T
= A 1,550.0 1,315.9 84.9 76.4 603.1 - -
st A 175 175 9171 7355 80.2 65.1 208.8 24.2 -
= A 102 101.8 139.3 122.4 879 928 84.3 62.7 -
_— o ¢t 705 711 85.7 79.7 93 89.6 190.7 841 -
3 4 50 50.6 162.7 154.4 949 93.1 18.7 108.7 -
i 134 133.3 115 77 66.7 72.6 13.5 9.7 -
= o - 25 230 2125 924 94.6 516 241.6 -
MEIZE HMZ 126.9 126.3 5.6 3.7 66.7 67.6 355 6.2 25




o AF FFAE (24108 ~24.129)

(2H2l : m¥/s)
au A 2410 24114 2412
oA 2o | HIE(%) | old 2ol | HIE(%) | od 28 | HIE(%)
H (4 gkm) 2,276 2,732 120.0 1,914 2,355 123.0 1,835 2,302 125.4
=M 152.3 129.4 85.0 1375 133.2 96.8 139.8 133.2 95.3
sta2t ST H 0.9 0.6 674 0.7 0.7 94.3 0.8 0.7 90.9
- E = 481.9 509.6 105.7 392.5 4574 116.5 385.4 419.6 108.9
ISERS! - 0.9 - - 1.0 - - 0.6 -

Ch=AE 105.8 67.5 63.8 734 66.4 90.5 76.4 65.4 85.6

ey | BT 16.0 169 1055 15.4 16.8| 1088 15.3 16.8|  109.3
ST - - - - - - - -
SRS - 11 - = 11 - = 11 -
mR=E Sl 63.3 536 84.7 54.2 528 97.4 55.4 508 95.3
2y | BFH [ - - - - - - - - -
aEe | - - - - - - - - -
ESS - 1192 - - 846 - - 789 -
CHE = 4822 215 445 345 21.3 61.8 29.0 213 735
oiatzt | STH 4.0 40 98.5 37 48] 1300 37 48| 1294
TS 5.8 4.1 70.7 28 27 9.4 2.3 19 82.6
X 4= K| = 99| - - 659 - - 625 -
« (B2 oMH [HEZie EAZME s (3212 AnH, [PAZIe oiEZ SR MAIZ 2 ERRIZE 2 AlMe 23
- =AY
(ck2l : m¥/s)
2l 24102 24112 04122l
= ofd | A= |v2%)| o | AE |(d2@%)| od | A= |vE(%)
A (84 gkm) 989.8| 728.18 74| 7765 709.43 91| 805.1| 7304 91
Aokt 5496 4351 79l 5698/ 702 123 6179 702 114
sz £ = 9476| 8423 89| 7832 606 771 7579 606 80
3 A 254 164 65| 224 24 107] 224 24 107
oF = 2416 17.76 74l 2215 186 84| 2546/ 186 73
o s} 1844 1274 69| 1049 16 152 10.19 16 157
M o 0.37 0.6 161 0.46 0.3 65|  0.49 0.3 62
= ¢ 0.82 16 195| 096 07 73 093 07 75
=z | ZEss 1.19 18 151 1.16 06 52 123 06 49
5 A 06| 047 79l 039 05 130] 0.34 05 149
3 A 18.63 13 70l 17.21 16.2 | 1818 162 89
oz 3931| 17.79 45| 189 117 62| 1796 107 60
ol of 228| 169 74l 166 18 109]  1.61 18 112
o o 2 o 17.4) 1778 102| 17.36] 167 9%| 1647 167 101
- ol = 271 3262 76| 3414 3209 9%| 3625 329 91
R F oo 3476 15.11 43| 2585 15 58| 2027 15 74
e MoAl 9.41 327 35| 494 33 67| 504 33 65
B oof 1.12 0.8 71 0.93 08 86| 093 08 86
7| gy 317, 318 100 27 32 18] 269 32 119
& E 291 228 78] 274 22 go] 273 22 81

_5_



(2H2l : m¥/s)
2y 24108 2411 24124
of A A Z Hlg | od A E Hlg | od A & H| &

i Ok me) 56.187| 57.575 102] 51.336| 57.568 12| 52.951| 59.487 12

2 = 0.559| 0.364 65| 0.482 0.36 75| 0.505 0.36 71

=g 0.362| 0.257 71 0.26 0.34 131 0.265 0.34 128

=S| 6.49| 7673 118 6.276 7.63 122 6.271 7.63 122

o = 0.065| 0.039 60| 0.044 0.03 69| 0.044 0.03 68

z = 3.957 3.759 95 3.79 4.07 107 3.644 4.07 12

CH S ALA 2517 1.855 74 1.882 1.85 98 1.688 1.85 110

oy g 2443 3244 133] 2.928 2.82 96| 3.219 2.82 88

o = 0.253) 0.116 461 0.196 0.13 66| 0.171 0.13 76

- o 0.313) 0.231 741 0.295 0.23 78] 0.292 0.23 79

MEZ = o 3.72| 3.666 9| 3.356 4.46 133] 3.373 4.46 132
R As 4 # 0299| 0.292 98| 0.297 0.29 98| 0.297 0.29 98

AHEZ : (108) g2 2IAE / (11,128) A2t 2L A E
=
(SH2l = m¥s)
2 24108 24 11¢ 24124

off A AZE | HE(%) | o’ AZE | HE(%) | od” AZE | HE(%)

1,306.30| 1,375.90 105.3| 1,024.60| 1,192.60 116.4| 1,038.40| 1,128.90 108.7

3t 25.1 222 88.4 15.5 22.2 143.2 18.2 2.2 122

=3 31.9 325 101.9 20.4 29.2 143.1 20 26.9 134.5

o| gt 83.6 1141 136.5 789 109.3 138.5 81.3 106.1 130.5

Hy 103 141.2 1371 93.7 126.9 135.4 91.6 117 127.7

| o 6.5 3.2 492 3.8 2.1 55.3 39 2.1 53.8

=y 231.8 196.4 84.7 180.2 167.7 93.1 170.4 145.3 85.3

Nz ENY 58 4.1 70.7 2.8 2.7 96.4 2.3 1.9 82.6
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- FY9E AFA(H B AASIE IS g AA)

(EHe

2 24108 2411 2412
s of & A=l |8lE(%)| o4 A=l 8lE(%) o4 A =l

Al (4 2km?) -| 5707 - -| 3956 - - 3834
= - 0.119 - - 0.126 - - 0.067
Bk —-| 0.058 - - 0.058 - - 0.058
=A -/ 0.000 - —-| 0.000 - -/ 0.000
o & -| 0.000 - —-| 0.000 - -/ 0.000
ghA - 0.069 - - 0.069 - - 0.069
o - 0.018 - -| 0.018 - - 0018
L2y S - 0.019 - - 0.021 - - 0.036
S5 - 0.045 - - 0.045 - - 0.045
Y —-| 0.080 - - 0.080 - -/ 0.080
e -| 0.194 - - 0228 - - 0.121
=2 - 0.1238 - - 0.137 - - 0.069
g - 0.047 - - 0047 - - 0.047
Ell - 0.149 - -| 0134 - - 0.039
nEsy —-| 0.000 - —-| 0.000 - -/ 0.000
=8 -/ 0.000 - —-| 0.000 - -/ 0.000
ot l& -/ 0.000 - —-| 0.000 - -/ 0.000
o= —-| 0.000 - —-| 0.000 - -/ 0.000
Ot - 0.000 - —-| 0.000 - - 0.000
7t= - 0.093 - - 0.093 - - 0.098
7t - 0.016 - - 0.016 - - 0.016
zy - 0.007 - - 0.007 - - 0.007
| - 0.0238 - - 0.023 - - 0.028
T (=) - 0.021 - - 0.021 - - 0.021
=251 - 0074 - - 0074 - -| 0074
=22 - 0.016 - - 0.016 - - 0.016
Ch&t -] 0.050 - - 0.050 - - 0.050
5= - 0.085 - - 0.055 - - 0.0%5
=™ —-| 0018 - - 0.018 - - 0018
gt - 0.021 - - 0.021 - - 0.021
=3 - 0.047 - - 0.047 - - 0.047
27t - 0.044 - - 0044 - - 0.044
Mt -] 0.063 - -1 0.063 - - 0.063
Met - 0.036 - - 0.036 - - 0.036
s =et -/ 0.000 - -|0.000 - -/ 0.000
S - 0.021 - - 0.021 - - 0.021
SEf -/ 0.000 - -|0.000 - -/ 0.000
ZA - 0.034 - - 0.034 - - 0034
=4 - 0.031 - -] 0.031 - - 0.031
= -1 0.041 - -1 0.041 - - 0.041
2 - 0.024 - - 0.024 - - 0.024
S - 0.031 - -] 0.031 - - 0.031
=% - 0.097 - - 0.097 - - 0.097
] -l 0.073 - - 0.073 - -..0.073
= -] 0.036 - - 0.036 - - 0.036
k= -|.0.069 - - 0.069 - -..0.069
e -1 0.009 - - 0.011 - - 0013
&g - 0.033 - -] 0.033 - - 0.0833
43 -l 0012 - -] 0.008 - -|..0.005
eE - 0.006 - - 0.004 - - 0.002




2 2410 24114 '24.12¢
= ofd | AE || od | AHAZ |H2%)| o | A |6 (%)
EES - 0017 - - 0.010 - -["0.006 -
7tel - 0.000 - -|0.000 - -| 0.000 —
Fut - 0.000 - - 0.000 - - 0000 -
At HE -] 0.000 - -] 0.000 - - 0000 -
Se ex - 0000 - - 0.000 - -| 0.000 -
R 0.140 0.140 0.140
o= -1 0130 - - 0.130 - - 0130 -
x| 2 (ko) - 0.110 - - 0.110 - - 0110 -
=X - 0057 ~ - 0.057 - - 0057 -
Alekgl -1 0.120 - - 0.120 - - 0120 -
2 -1 0010 ~ - 0010 - - 0010 -
= - 0.030 ~ - 0.030 - - 0030 -
= - 0018 - - 0018 - - 0018 -
Fzg - 0.030 ~ - 0.030 - - 0030 -
Abz - 0276 - - 0.170 - - 0.113 -
S - 0015 - - 0015 - - 0015 -
= - 0034 - - 0034 - - 0034 -
HH - 0062 - - 0062 - - 0062 -
H| 2 - 0.299 ~ - 0.131 - - 0.168 -
CI3= - 0013 - - 0025 - - 0078 -
2t - 0.028 — - 0.028 - - 0028 -
ul =2 - 0.366 - - 0.366 - - 0220 -
o 2l et - 0056 - - 0.049 - - 0115 -
== W= - 0019 - - 0019 - - 0019 -
ols - 0821 - - 0815 - - 0665 -
AT - 0019 - - 0.049 - - 0052 -
SHA| -1 0.004 - - 0.004 - - 0.004 -
20 - 0022 - - 0121 - - 0111 -
<@ = - 0371 - - 0229 - - 0176 -
2 of -/ 0.008 - - 0.008 - - 0008 -
== - 0.004 — - 0.004 - - 0004 -
X ot - 0002 - - 0002 - - 0002 -
SH&I - 0005 - - 0.005 - - 0005 -
A} - 0000 - - 0.000 - -| 0.000 -
=2 -1 0005 - - 0.005 ~ -| 0.005 —
EFx - 0573 — - 1.183 - - 1318 -
HE - 0043 - - 0043 - - 0043 -
Al - 0.031 ~ - 0.031 - - 0051 -
= - 0015 - - 0015 - - 0015 -
=8 - 0.183 ~ - 0.189 - - 0000 -
ZUSIRE -1 99.500 - -/ 65.400 - -/ 58.100 -
T - 0.000 - -1 0.000 - - 0036 -
Alry -/ 0.000 — - 0.000 - -/ 0008 -
AMmH | o SO E) - 1.307 - - 1.847 - - 2000 -
29 - 0.004 ~ - 0267 - - 0232 -
MuUS - 13.068 - - 11.472 — - 11.507 -
o= - 0000 - - 0.000 ~ - 0.000 -
e<Eol - 0.000 ~ - 0.000 - - 0285 -
2LMsH = - 0000 - - 0.000 - -| 0.040 -
M - 0.000 ~ - 0.000 - - 0000 -
o 5 x| - 1.363 - - 1.408 - - 2730 -
e -/ 0580 - - 0353 - - 0351 -
oAbzt 2 - 0442 - - 0.269 - - 0267 -
e - 0.153 ~ -/ 0.153 - - 0153 -
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24108 24118 2412
A & A =l A &
0.064 0.064 0.064
0.690 0.420 0.418
0.156 0.095 0.095
0.217 0.132 0.131
0.058 0.035 0.035
0.127 0.077 0.077
0.156 0.088 0.079
0.080 0.047 0.044
1.725 1.050 1.045
0.263 0.157 0.147
0.048 0.048 0.048
30.040 29.860 16.880
43.790 23.850 35.830
6.370 4.960 3.300
0.216 0.110 0.102
0.008 0.008 0.008
0.209 0.105 0.046
0.388 0.230 0.218
0.093 0.047 0.023
0.113 0.069 0.068
0.262 0.152 0.209
1.356 0.026 0.026
0.179 0.106 0.101
0.400 0.400 0.400
1.459 0.851 0.572
1.008 0.588 0.576
0.443 0.443 0.443
0.012 0.008 0.005
0.513 0.513 0.513
0.218 0.134 0.038
0.015 0.015 0.015
0.025 0.466 0.165
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ﬂ 7|2t PIENS '24.8¢ '24.9¢
o
R ETESIPE-! old | 2s |H[E(%)| old | 2 |[H[E(%)| old | 28l | H]2(%)
AF (=g dazgd) 2135| 2506| 1215 4089 1229 0| o4 1789 677
LIFR (2R, mE@) | 5505 6945 1261120680 5497| 455 6439 6326 982
YT Mz, "™ D) R5 318 978 68 196] 289 372 B/I| 1024
jj Of F(mold, 25m) 136] 124 914| 301 86| 87| 28 171|752
EH(zHz, 220) 209 21| 1057 468 77| 379 26| 313 132
(A, H2h D) 2192 2205 1046 6852 5122 747| 2374| 2144 903
HeEl(otyd, 221) 11.1)  149| 13| 29| 61 284 177| 193] 1088
Ol H (2w, Azm) 1766 1304 738 345 727| 217| 2489 1256 505
To|Es, 2um) 1716 1751 1021| 3472| 876, 252| 2833 1R6| 6800
2 2(=s s2octal) 2061| 2115 1026 4243| 108|255 3378 2434 7210
g (2R, 1yD) 2803 3004 1072| 5807| 1623| 279| 4842 3860 6680
A
T leses, nED) 3299 361| 1079 7312| 18160| 248 5873| 37120 6320
stokz g, Auya) 4627| 4542 982 9%77| 26120 27| 44| 49| 599
oKz, AxD) 5065 511  857/131670 26290 20| 1131.1] 6303 55
SH(Es, oD 541|666 1231 128|199 162 716| 708| 986
2w, 22D 1346 19%63| 1458| 2765 8| 31.1| 1865 1735 et
o |Roies, WMD) 164 2382 1452 43| 1104 1| 257 281 103
2 gd@s, arm) 24| 289 1289 403 134| 34| 281 381 139
MBS Al @lsd, 2am) 37| 656 1502| 89| 369 49| 645 1149 1783
OFARAl(= @A, FHfcta)) 75| 109 1447 151 71| 466 108 185 1707
jﬁ (2w, 22tD) 244 219|895 476 24| 504 3B4| 245 734
2 |LhEEs uFgD) 505| 577 99| 110|416 378 872 82| 1011
L | B8R a3 a5/ 37| 12| 918 217| 286| 508 453 892
A |2MEs dsw 471 64| 1198 %| 297| 309 601 546] 908
¢ Tel=s s™e) 812 814 1002| 18| 461  256| 1458| 1056 72
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